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Answer any five questions
All questions carry equal marks
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A \){hat is-Android y\lrh.l,&} Revice? I;Iow to-create Anﬁrold Virtual Dey-gce" Biscuss about -,

N /
_k’ (7 xzanous typcs of ;ndrou{fpphcatmm\ L.__J,x 7 f,,__ W }fji\’ L =
2. Construct activity life cycle with a neat dlagram Also explam the dnﬁ”erent callback
methods used in activity life cycle with coding snippet. [15]
3. What is spinner? How to create the spinner and it's adapter in android? Discover with
A ajn‘exgmple i’l A ;"-. o A7 [; S
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Aok ,W’ﬁat are: fragmient' states? Determ}ne how to temqv ¢._and repf_'é fragments with,
fragment transactions. [15]
5.a) Determine how intents are used in Native Android applications to launch Activities and
sub-Activities?
b) What is Pendmg Intents" Identlfy the Usage of Intent Fllters to Service Implicit Intents.
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6. Dlscuss in detali about creatmg and dlsplaymg nonficatlons [15]
! How to create, save, restore and clear shared preferences? Explain with example. [15]
8.a) How to implement SQLite database? Explain with an example
A~~~ b) Builda -skeleton ¢antent provndey\ 1mplementatlon\ by -using SQthe Open helper ,to P
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